
28

1131100212 



2 2 2

2
3



……………………………………………………………………….1 

…………………………………………………….2 
……………….2 

………………………………………………………….3

…………………………….5 
……………………………………………………….5 

…………………………………………………….6 

……………………….8
2 2 2

       ……………….8 

……………………………..………………….12 
………………………………………..……….12 

...……………………………21

………………………………………………………………..….31 

……………………………………………………………………………..…….32 

……………………………………………………………………..……….58 



1 
 

  
 

1964 

 

 

 
 

 
 
 
 
 
 
 
 



2 
 

  
 

  
 

 
(David Huff)

 
 

 
 1

i j Fij

 
 

  

 
Fij Mi i Mj j

Dij i j k  
 1929

2 A B PA PB

A B D F
 

 
  
 

2
A B C Pc A C Da B C

Db Da+Db=D A C B C

                                                  
1 2007 2013

 
2 2005

 



3 
 

A B C Ba Bb  
 

 

 
 

 2
 

 

   

 
 

 
  

 

2

GIS  
 

3 Sj
i j Dij j i

iVj (1)  
 

                                                  
3 (2013)   



4 
 

                             

 
n

i iV (2)  
 

             

 
(1) (2) (3) i

i j (
) Pij  

 

                           

 
(3)  

i (4) j
i  

  
                            

 
Eij i j  
C i i  

 
j

 
 

i i g
j i
 

 
                            

 
Agij j i  



5 
 

B ig i g  
 

1 m j g
 

 

            

 
Agj j g  

 
i

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



6 
 

  
 

  
 

4

3

 
 

  
 

 
 

i I {1,2, I} 
j J{1,2, J} 

k K{1,2, K} 
Pik i k  
Qjk j k  
Dik i k  
Ejk j k  

                                                  
1. 4 http://www.mlit.go.jp/road/Michi-no-Eki/ 

 



7 
 

 

 
Sk k  
Tk k  

 
Sk Tk k
Pik Qjk  

 

 

 

 

 
k k

k  
 

 

 

 

 
2

 
 
 
 
 
 
 
 
 



8 
 

  
 

 2 2 2  
 

2 2 2
2  

 

 1  
 

i = 1 1 
i = 2 2 
j = 1 1 
j = 2 2 
k=1 1 
k=2 2 
D 1 1 1 1  
D 1 2 1 2  
D 2 1 2 1  
D 2 2 2 2  
E 1 1 1 1  
E 1 2 1 2  
E 2 1 2 1  
E 2 2 2 2  

 
1 5

                                                  
5 

 

i=1 D11 k=1 E11 j=1

D12 D21 E21 E12

i=2 k=2 j=2

D22 E22



9 
 

1 2 1 2

 
 

X1 = P11 

X2 = P21 

Y1 = Q11 

Y2 = Q21 

 

1 P12 P22 Q12 Q22  
 

P12 1-P11 
P22 1-P21 
Q12 1-Q11 
Q22 1-Q21 

 
 

 

                    

 

                    

 

                    

 

                    

 
1 2  

 



10 
 

 

                     

 

                     

 
2 S2 T2  

 

             

 

             

 
X=X1+X2 Y=Y1+Y2  

 

                 

 

                 

 
 

 

              

 

              

 
2 X Y X Y



11 
 

X Y 2 0 X
2 0 Y 2 R

(11) (12)  
 

       

 

 

 

  

 

  

 

2 a b c d 1,4,9,16,25 1/4,1/9,1/16,1/25
2

a b c d

1 2 D11
D12 D21 D22 E11 E12 E21 E22

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



12 
 

  
 

  
 

D11 D12 D21 D22 E11 E12 E21 E22
X

1 2 1 Y 1 2 1
 

 
 

 
D 1 1 1 1  
D 1 2 1 2  
D 2 1 2 1  
D 2 2 2 2  
E 1 1 1 1  
E 1 2 1 2  
E 2 1 2 1  
E 2 2 2 2  
P11 = X1 
P21 = X2 

Q11 = Y1 

Q21 = Y2 

X=X1+X2 
Y=Y1+Y2 

S1=Q11+Q21 
S2=Q12+Q22 
T1=P11+P21 
T2=P12+P22 

 

 

 



13 
 

 

  

  

 
 

D11 D12 D21 D22 E11 E12 E21 E22
D11<D12 D21<D22 E11<E12 E21<E22

 
 2  D11 D12 D21 D22 D11<D12 D21<D22

 
 

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0



14 
 

2 a=b=1
1

1 a,b 1

1
1 1

a,b 1 2 1

1 1

 

 

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0



15 
 

 3  E11 E12 E21 E22 E11<E12 E21<E22
 

 
3

1 1 1

1 1
1

1
1 1

1
 

 
D11>D12 D21<D22 E11>E12 E21<E22

a b c d



16 
 

 
 4  D11>D12 D21<D22  

 
4 D11>D12 D21<D22 a,b

(X,Y)=(0,0) (1.0,1.0) (2.0,2.0) 0 X<1.0

1 1
1 1

a b 1
1

0 X<1.0 1 2
1.0<X 2.0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0



17 
 

1 1
1

a b 1

1 1
1

1 1
 

 

 
 5  E11>E12 E21<E22  

 
5 E11>E12 E21<E22 c,d

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0



18 
 

(X,Y)=(0,0) (1.0,1.0) (2.0,2.0)
0 X<1.0 c,d

1 1
1 1

c d 1
Y 1 2

1.0<X 2.0
c,d

1 1 1
1

c d
1

1
 



19 
 

 
 6  D11>D12 D21<D22  

 
6 a b

c d
1 1

1
2

1
1 2

1

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0



20 
 

 

 
 7 E11>E12 E21<E22  

 
7 c d

1 2
1

1
1 2

1 2
1  

 

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0



21 
 

  
 

 
 

 D11 D12 D21>D22 E11 E12 E21>E22  

 
 8       9 

 
a b c d 1

2
(X=0 Y=0) (X=2.0 Y=2.0) 2 X

X1 X2 1 2 1 Y Y1
Y2 1 2 2

1
1 2

1 1
(X=0 Y=0) 

2 1
1 (X=2.0 Y=2.0)

(X=0 Y=0) S1=0 S2 2.0 T1=0 T2 2.0
(X=2.0 Y=2.0) S1=2.0 S2 0 T1=2.0 T2

0  
 

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=4,b=4,c=4,d=4

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=25,b=25,c=25,d=25



22 
 

 D11<D12 D21<D22 E11<E12 E21<E22  

   
 10       11 

 
10 11 a b c d

1 2

(X=2.0 Y=2.0) 
1

1 (X=0 Y=0)
(X=0 Y=0) S1=0 S2 2.0

T1=0 T2 2.0 (X=2.0 Y=2.0) S1=2.0 S2 0
T1=2.0 T2 0  

 
 D11=D12 D21=D22 E11=E12 E21=E22  

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=1/4,b=1/4,c=1/4,d=1/4

0.0 0.5 1.0 1.5 2.0
0.

0
0.

5
1.

0
1.

5
2.

0
0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=1/25,b=1/25,c=1/25,d=1/25



23 
 

 
   12 

 
12 1 2

0 X 2 0 Y 2 X=Y

 
 

 D11 D12 D21<D22 E11 E12 E21<E22  

a=9 b=1/4 a=1/4 b=9 19
c d 20

 

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=1,b=1,c=1,d=1



24 
 

   
 13          14 

 
1 1 2

1 1 2 a
b c d (X=0 Y=0) (X=1.0 Y=1.0)
(X=2.0 Y=2.0) 3 (X=0 Y=0)

S1=0 S2 2.0 T1=0 T2 2.0 (X=1.0 Y=1.0)
S1=1.0 S2 1.0 T1=1.0 T2 1.0

(X=2.0 Y=2.0) S1=2.0 S2 0 T1=2.0 T2 0
a b c d  

  
 15        16 

 

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=4,b=1/4,c=4,d=1/4

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=25,b=1/25,c=25,d=1/25

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=4,b=1/25,c=4,d=1/25

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=25,b=1/4,c=25,d=1/4



25 
 

3 (X=0 Y=0) (X=2.0
Y=2.0)

1 2
1 2

1 2
D11=D12 D21<D22 E11=E12 E21<E22 (X=0 Y=0) (X=2.0

Y=2.0) 2  

 
 17        18 

 
2 (X=0 Y=0)

(X=2.0 Y=2.0)
(X=0 Y=0) S1=0 S2

2.0 T1=0 T2 2.0 (X=2.0 Y=2.0)
S1=2.0 S2 0 T1=2.0 T2 0  
 

 D11>D12 D21<D22 E11 E12 E21 E22  
45

a=25 b=1/25 c=4 d=4 a=4
b=4 c=25 d=1/25 45

45  

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=1,b=1/4,c=1,d=1/4

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=1,b=1/25,c=1,d=1/25



26 
 

 
 19       20 

  

 
 21        22 

 

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=25,b=1/25,c=4,d=4

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=4,b=4,c=25,d=1/25

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=4,b=1/4,c=1,d=1

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=25,b=1/25,c=9,d=9



27 
 

 
 23 

 
3 1 2

1 1
1 2

1

2  

 
 24        25 

 

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=100,b=1/100,c=4,d=4

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=4,b=1/4,c=4,d=4

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=25,b=1/25,c=25,d=25



28 
 

3 2 X Y X1 X2
Y1 Y2 X1 X2 Y1 Y2

(X=0 Y=0) S1=0 S2 2.0
T1=0 T2 2.0 (X=2.0 Y=2.0) S1=2.0

S2 0 T1=2.0 T2 0 3 S1 S2
T1 T2  
 

 D11>D12 D21<D22 E11 E12 E21 E22  
45

a=25 b=1/25 c=1/4 d=1/4
a=1/4 b=1/4 c=25 d=1/25 45

45  

 
 25        26 

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=25,b=1/25,c=1/4,d=1/4

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=1/4,b=1/4,c=25,d=1/25



29 
 

  
 27       28 

 
1 2

X 1.0
2 Y 2.0

2  

 
 29        30 

 
X Y X1 X2 Y1 Y2

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=25,b=1/25,c=1/9,d=1/9

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=100,b=1/100,c=1/4,d=1/4

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=4,b=1/4,c=1/4,d=1/4

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

0.0 0.5 1.0 1.5 2.0

0.
0

0.
5

1.
0

1.
5

2.
0

a=25,b=1/25,c=1/25,d=1/25



30 
 

2 2 2
2 3

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



31 
 

  
 

2 3

2 2
2

2 3

x y z

( )

GIS 6

 
  

                                                  
6 2007  



32 
 

 
 

 
a,b,c,d   S1 S2 T1 T2

 
 

a=1,b=1,c=1,d=1 (X=Y)  
 

 
a=1,b=4,c=1,d=4  

 
 
 
 
 

(X=0 Y=0) 
(X=2.0 Y=2.0) 

 
 
 

 
 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=9,c=1,d=9 
a=1,b=16,c=1,d=16 
a=1,b=25,c=1,d=25 

a=4,b=4,c=4,d=4 
a=4,b=9,c=4,d=9 

a=4,b=16,c=4,d=16 
a=4,b=25,c=4,d=25 

a=9,b=9,c=9,d=9 
a=9,b=16,c=9,d=16 
a=9,b=25,c=9,d=25 

a=16,b=16,c=16,d=16 
a=16,b=25,c=16,d=25 
a=25,b=25,c=25,d=25 

a=10000,b=10000,c=10000,d=10000 
 

a=1,b=1/4,c=1,d=1/4  
 
 
 
 
 

(X=0 Y=0) 
(X=2.0 Y=2.0) 

 
 
 
 
 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=1/9,c=1,d=1/9 
a=1,b=1/16,c=1,d=1/16 
a=1,b=1/25,c=1,d=1/25 
a=1/4,b=1/4,c=1/4,d=1/4 
a=1/4,b=1/9,c=1/4,d=1/9 

a=1/4,b=1/16,c=1/4,d=1/16 
a=1/4,b=1/25,c=1/4,d=1/25 

a=1/9,b=1/9,c=1/9,d=1/9 
a=1/9,b=1/16,c=1/9,d=1/16 
a=1/9,b=1/25,c=1/9,d=1/25 



33 
 

a=1/16,b=1/16,c=1/16,d=1/16 
a=1/16,b=1/25,c=1/16,d=1/25 
a=1/25,b=1/25,c=1/25,d=1/25 

a=1/10000,b=1/10000,c=1/10000,d=1/1000
0 

 
a=4,b=1/4,c=4,d=1/4  

 
(X=0 Y=0) 

(X=1.0 Y=1.0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)

(S1=1.0 S2=1.0
T1=1.0 T2=1.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=9,b=1/9,c=9,d=1/9 
a=16,b=1/16,c=16,d=1/16 
a=25,b=1/25,c=25,d=1/25 

a=100,b=1/100,c=100,d=1/100 
a=10000,b=1/10000,c=10000,d=1/10000 

a=1,b=1/4,c=1,d=1/9  
 

(X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=1/4,c=1,d=1/16 
a=1,b=1/4,c=1,d=1/25 
a=1,b=1/4,c=1,d=1/100 

a=1,b=1/4,c=1,d=1/10000 
a=1,b=1/4,c=4,d=1/4 
a=1,b=1/4,c=4,d=1/9 (X=0 Y=0

(X=0.45 Y=0.7) 
(X=2.0 Y=2.0  

S1=0.7 S2=1.3
T1=0.45 T2=1.55 

a=1,b=1/4,c=4,d=1/16 (X=0 Y=0) 
(X=0.6 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=0.6 T2=1.4 

a=1,b=1/4,c=4,d=1/25 (X=0 Y=0) 
(X=0.65 Y=0.95) 
 (X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=0.65 T2=1.35 

a=1,b=1/4,c=4,d=1/100 (X=0 Y=0) 
(X=0.7 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=0.7 T2=1.3 

a=1,b=1/4,c=4,d=1/10000 (X=0 Y=0) 
(X=0.75 Y=1.05) 
(X=2.0 Y=2.0) 

S1=1.05 S2=0.95
T1=0.75 T2=1.25 

a=1,b=1/4,c=9,d=1/4 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)



34 
 

(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=1/4,c=9,d=1/9 (X=0 Y=0) 
(X=0.55 Y=0.85) 
(X=2.0 Y=2.0) 

S1=0.85 S2=1.15
T1=0.55 T2=1.45 

a=1,b=1/4,c=9,d=1/16 (X=0 Y=0) 
 (X=0.7 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=0.7 T2=1.3 

a=1,b=1/4,c=9,d=1/25 (X=0 Y=0) 
 (X=0.7 Y=1.05) 
(X=2.0 Y=2.0) 

S1=1.05 S2=0.95
T1=0.7 T2=1.3 

a=1,b=1/4,c=9,d=1/100 (X=0 Y=0) 
(X=0.45 Y=0.75) 
(X=2.0 Y=2.0) 

S1=0.75 S2=1.25
T1=0.45 T2=1.55 

a=1,b=1/4,c=9,d=1/10000 (X=0 Y=0) 
(X=0.75 Y=1.1) 
(X=2.0 Y=2.0) 

S1=1.1 S2=0.9
T1=0.75 T2=1.25 

a=1,b=1/4,c=16,d=1/4 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=1/4,c=16,d=1/9 (X=0 Y=0) 
(X=0.45 Y=0.75) 
(X=2.0 Y=2.0) 

S1=0.75 S2=1.25
T1=0.45 T2=1.55 

a=1,b=1/4,c=16,d=1/16 (X=0 Y=0) 
(X=0.55 Y=0.85) 
(X=2.0 Y=2.0) 

S1=0.85 S2=1.15
T1=0.55 T2=1.45 

a=1,b=1/4,c=16,d=1/25 (X=0 Y=0) 
(X=0.6 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=0.6 T2=1.4 

a=1,b=1/4,c=16,d=1/100 (X=0 Y=0) 
(X=0.65 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=0.65 T2=1.25 

a=1,b=1/4,c=16,d=1/10000 (X=0 Y=0) 
(X=0.66 Y=1.02) 
(X=2.0 Y=2.0) 

S1=1.02 S2=0.98
T1=0.66 T2=1.34 
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a=1,b=1/4,c=25,d=1/4 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=1/4,c=25,d=1/9 (X=0 Y=0) 
(X=0.45 Y=0.75) 
(X=2.0 Y=2.0) 

S1=0.75 S2=1.25
T1=0.45 T2=1.55 

a=1,b=1/4,c=25,d=1/16 (X=0 Y=0) 
(X=0.55 Y=0.85) 
(X=2.0 Y=2.0) 

S1=0.85 S2=1.15
T1=0.55 T2=1.45 

a=1,b=1/4,c=25,d=1/25 (X=0 Y=0) 
(X=0.58 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=0.58 T2=1.42 

a=1,b=1/4,c=25,d=1/100 (X=0 Y=0) 
(X=0.6 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=0.6 T2=1.4 

a=1,b=1/4,c=25,d=1/10000 (X=0 Y=0) 
(X=0.63 Y=1.02) 
(X=2.0 Y=2.0) 

S1=1.02 S2=0.98
T1=0.63 T2=1.37 

a=1,b=1/4,c=100,d=1/4 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=1/4,c=100,d=1/9 (X=0 Y=0) 
(X=0.43 Y=0.7) 
(X=2.0 Y=2.0) 

S1=0.7 S2=1.3
T1=0.43 T2=1.57 

a=1,b=1/4,c=100,d=1/16 (X=0 Y=0) 
(X=0.52 Y=0.85) 
(X=2.0 Y=2.0) 

S1=0.85 S2=1.15
T1=0.52 T2=1.48 

a=1,b=1/4,c=100,d=1/25 (X=0 Y=0) 
(X=0.58 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=0.58 T2=1.42 

a=1,b=1/4,c=100,d=1/100 (X=0 Y=0) 
(X=0.62 Y=0.97) 
(X=2.0 Y=2.0) 

S1=0.97 S2=1.03
T1=0.62 T2=1.38 

a=1,b=1/4,c=100,d=1/10000 (X=0 Y=0) S1=1.0 S2=1.0
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(X=0.65 Y=1.0) 
(X=2.0 Y=2.0) 

T1=0.65 T2=1.35 

a=1,b=1/4,c=10000,d=1/4 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=1/4,c=10000,d=1/9 (X=0 Y=0) 
(X=0.43 Y=0.73) 
(X=2.0 Y=2.0) 

S1=0.73 S2=1.27
T1=0.43 T2=1.57 

a=1,b=1/4,c=10000,d=1/16 (X=0 Y=0) 
(X=0.52 Y=0.83) 
(X=2.0 Y=2.0) 

S1=0.83 S2=1.17
T1=0.52 T2=1.48 

a=1,b=1/4,c=10000,d=1/25 (X=0 Y=0) 
(X=0.58 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=0.58 T2=1.42 

a=1,b=1/4,c=10000,d=1/100 (X=0 Y=0) 
(X=0.63 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=0.63 T2=1.37 

a=1,b=1/4,c=10000,d=1/10000 (X=0 Y=0) 
(X=0.63 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=0.63 T2=1.37 

a=1,b=1/9,c=4,d=1/4 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=1/9,c=4,d=1/9 

a=1,b=1/9,c=4,d=1/16 (X=0 Y=0) 
(X=0.4 Y=0.75) 
(X=2.0 Y=2.0) 

S1=0.75 S2=1.25
T1=0.4 T2=1.6 

a=1,b=1/9,c=4,d=1/25 (X=0 Y=0) 
(X=0.43 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=0.43 T2=1.57 

a=1,b=1/9,c=4,d=1/100 (X=0 Y=0) 
(X=0.55 Y=1.03) 
(X=2.0 Y=2.0) 

S1=1.03 S2=0.97
T1=0.55 T2=1.45 

a=1,b=1/9,c=4,d=1/10000 (X=0 Y=0) 
(X=0.58 Y=1.05) 

S1=1.05 S2=0.95
T1=0.58 T2=1.42 
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(X=2.0 Y=2.0) 
a=1,b=1/9,c=9,d=1/4 (X=0 Y=0) 

(X=2.0 Y=2.0) 
(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=1/9,c=9,d=1/9 

a=1,b=1/9,c=9,d=1/16 (X=0 Y=0) 
(X=0.4 Y=0.75) 
(X=2.0 Y=2.0) 

S1=0.75 S2=1.25
T1=0.4 T2=1.6 

a=1,b=1/9,c=9,d=1/25 (X=0 Y=0) 
(X=0.45 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=0.45 T2=1.55 

a=1,b=1/9,c=9,d=1/100 (X=0 Y=0) 
(X=0.48 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=0.48 T2=1.52 

a=1,b=1/9,c=9,d=1/10000 (X=0 Y=0) 
(X=0.48 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=0.48 T2=1.52 

a=1,b=1/9,c=16,d=1/4 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=1/9,c=16,d=1/9 

a=1,b=1/9,c=16,d=1/16 (X=0 Y=0) 
(X=0.35 Y=0.7) 
(X=2.0 Y=2.0) 

S1=0.7 S2=1.3
T1=0.35 T2=1.65 

a=1,b=1/9,c=16,d=1/25 (X=0 Y=0) 
(X=0.4 Y=0.82) 
(X=2.0 Y=2.0) 

S1=0.82 S2=1.18
T1=0.4 T2=1.6 

a=1,b=1/9,c=16,d=1/100 (X=0 Y=0) 
(X=0.48 Y=0.98) 
(X=2.0 Y=2.0) 

S1=0.98 S2=1.02
T1=0.48 T2=1.52 

a=1,b=1/9,c=16,d=1/10000 (X=0 Y=0) 
(X=0.5 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=0.5 T2=1.5 

a=1,b=1/9,c=25,d=1/4 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0

a=1,b=1/9,c=25,d=1/9 
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T1=2.0 T2=0) 
a=1,b=1/9,c=25,d=1/16 (X=0 Y=0) 

(X=0.35 Y=0.7) 
(X=2.0 Y=2.0) 

S1=0.7 S2=1.3
T1=0.35 T2=1.65 

a=1,b=1/9,c=25,d=1/25 (X=0 Y=0) 
(X=0.4 Y=0.82) 
(X=2.0 Y=2.0) 

S1=0.82 S2=1.18
T1=0.4 T2=1.6 

a=1,b=1/9,c=25,d=1/100 (X=0 Y=0) 
(X=0.45 Y=0.98) 
(X=2.0 Y=2.0) 

S1=0.98 S2=1.02
T1=0.45 T2=1.55 

a=1,b=1/9,c=25,d=1/10000 (X=0 Y=0) 
(X=0.5 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=0.5 T2=1.5 

a=1,b=1/9,c=100,d=1/4 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=1/9,c=100,d=1/9 

a=1,b=1/9,c=100,d=1/16 (X=0 Y=0) 
(X=0.3 Y=0.65) 
(X=2.0 Y=2.0) 

S1=0.65 S2=1.35
T1=0.3 T2=1.7 

a=1,b=1/9,c=100,d=1/25 (X=0 Y=0) 
(X=0.4 Y=0.83) 
(X=2.0 Y=2.0) 

S1=0.83 S2=1.17
T1=0.4 T2=1.6 

a=1,b=1/9,c=100,d=1/100 (X=0 Y=0) 
(X=0.45 Y=0.97) 
(X=2.0 Y=2.0) 

S1=0.97 S2=1.03
T1=0.45 T2=1.55 

a=1,b=1/9,c=100,d=1/10000 (X=0 Y=0) 
(X=0.5 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=0.5 T2=1.5 

a=1,b=1/9,c=10000,d=1/4 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=1/9,c=10000,d=1/9 

a=1,b=1/9,c=10000,d=1/16 (X=0 Y=0) 
(X=0.3 Y=0.62) 
(X=2.0 Y=2.0) 

S1=0.62 S2=1.38
T1=0.3 T2=1.7 
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a=1,b=1/9,c=10000,d=1/25 (X=0 Y=0) 
(X=0.4 Y=0.83) 
(X=2.0 Y=2.0) 

S1=0.83 S2=1.17
T1=0.4 T2=1.6 

a=1,b=1/9,c=10000,d=1/100 (X=0 Y=0) 
(X=0.45 Y=0.97) 
(X=2.0 Y=2.0) 

S1=0.97 S2=1.03
T1=0.45 T2=1.55 

a=1,b=1/9,c=10000,d=1/10000 (X=0 Y=0) 
(X=0.5 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=0.5 T2=1.5 

a=1,b=1/16,c=4,d=1/4 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=1/16,c=4,d=1/9 
a=1,b=1/16,c=4,d=1/16 

a=1,b=1/16,c=4,d=1/25 (X=0 Y=0) 
(X=0.35 Y=0.8) 
(X=2.0 Y=2.0) 

S1=0.8 S2=1.2
T1=0.35 T2=1.65 

a=1,b=1/16,c=9,d=1/4 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=1/16,c=9,d=1/9 
a=1,b=1/16,c=9,d=1/16 

a=1,b=1/16,c=9,d=1/25 (X=0 Y=0) 
(X=0.35 Y=0.75) 
(X=2.0 Y=2.0) 

S1=0.75 S2=1.25
T1=0.35 T2=1.65 

a=1,b=1/16,c=16,d=1/4 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=1/16,c=16,d=1/9 
a=1,b=1/16,c=16,d=1/16 

a=1,b=1/16,c=16,d=1/25 (X=0 Y=0) 
(X=0.3 Y=0.73) 
(X=2.0 Y=2.0) 

S1=0.73 S2=1.27
T1=0.3 T2=1.7 

a=1,b=1/16,c=25,d=1/4 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=1/16,c=25,d=1/9 
a=1,b=1/16,c=25,d=1/16 

a=1,b=1/16,c=25,d=1/25 (X=0 Y=0) 
(X=0.3 Y=0.7) 

S1=0.7 S2=1.3
T1=0.3 T2=1.7 
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(X=2.0 Y=2.0) 
a=1,b=1/25,c=4,d=1/4  

 
 
 
 
 

(X=0 Y=0) 
(X=2.0 Y=2.0) 

 
 
 
 
 
 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=1,b=1/25,c=4,d=1/9 
a=1,b=1/25,c=4,d=1/16 
a=1,b=1/25,c=4,d=1/25 
a=1,b=1/25,c=9,d=1/4 
a=1,b=1/25,c=9,d=1/9 

a=1,b=1/25,c=9,d=1/16 
a=1,b=1/25,c=9,d=1/25 
a=1,b=1/25,c=16,d=1/4 
a=1,b=1/25,c=16,d=1/9 
a=1,b=1/25,c=16,d=1/16 
a=1,b=1/25,c=16,d=1/25 
a=1,b=1/25,c=25,d=1/4 
a=1,b=1/25,c=25,d=1/9 
a=1,b=1/25,c=25,d=1/16 
a=1,b=1/25,c=25,d=1/25 

a=4,b=1/4,c=4,d=1/9 (X=0 Y=0) 
(X=1.1 Y=1.1) 
(X=2.0 Y=2.0) 

S1=1.1 S2=0.9
T1=1.1 T2=0.9 

a=4,b=1/4,c=4,d=1/16 (X=0 Y=0) 
(X=1.5 Y=1.2) 
(X=2.0 Y=2.0) 

S1=1.2 S2=0.8
T1=1.5 T2=0.5 

a=4,b=1/4,c=4,d=1/25 (X=0 Y=0) 
(X=1.5 Y=1.2) 
(X=2.0 Y=2.0) 

S1=1.2 S2=0.8
T1=1.5 T2=0.5 

a=4,b=1/4,c=9,d=1/4 (X=0 Y=0) 
(X=0.9 Y=0.85) 
(X=2.0 Y=2.0) 

S1=0.85 S2=1.15
T1=0.9 T2=1.1 

a=4,b=1/4,c=9,d=1/9 (X=0 Y=0) 
(X=1.0 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.0 T2=1.0 

a=4,b=1/4,c=9,d=1/16 (X=0 Y=0) 
(X=1.05 Y=1.1) 
(X=2.0 Y=2.0) 

S1=1.1 S2=0.9
T1=1.05 T2=0.95 
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a=4,b=1/4,c=9,d=1/25 (X=0 Y=0) 
(X=1.05 Y=1.05) 
(X=2.0 Y=2.0) 

S1=1.05 S2=0.95
T1=1.05 T2=0.95 

a=4,b=1/4,c=16,d=1/4 (X=0 Y=0) 
(X=0.9 Y=0.8) 
(X=2.0 Y=2.0) 

S1=0.8 S2=1.2
T1=0.9 T2=1.1 

a=4,b=1/4,c=16,d=1/9 (X=0 Y=0) 
(X=0.95 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=0.95 T2=1.05 

a=4,b=1/4,c=16,d=1/16 (X=0 Y=0) 
(X=1.0 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.0 T2=1.0 

a=4,b=1/4,c=16,d=1/25 (X=0 Y=0) 
(X=1.05 Y=1.05) 
(X=2.0 Y=2.0) 

S1=1.05 S2=0.95
T1=1.05 T2=0.95 

a=4,b=1/4,c=25,d=1/4 (X=0 Y=0) 
(X=0.9 Y=0.75) 
(X=2.0 Y=2.0) 

S1=0.75 S2=1.25
T1=0.9 T2=1.1 

a=4,b=1/4,c=25,d=1/9 (X=0 Y=0) 
(X=0.95 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=0.95 T2=1.05 

a=4,b=1/4,c=25,d=1/16 (X=0 Y=0) 
(X=0.98 Y=0.98) 
(X=2.0 Y=2.0) 

S1=0.98 S2=1.02
T1=0.98 T2=1.02 

a=4,b=1/4,c=25,d=1/25 (X=0 Y=0) 
(X=1.0 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.0 T2=1.0 

a=4,b=1/9,c=4,d=1/4 (X=0 Y=0) 
(X=1.1 Y=1.1) 
(X=2.0 Y=2.0) 

S1=1.1 S2=0.9
T1=1.1 T2=0.9 

a=4,b=1/9,c=4,d=1/9 (X=0 Y=0) 
(X=1.2 Y=1.2) 
(X=2.0 Y=2.0) 

S1=1.2 S2=0.8
T1=1.2 T2=0.8 

a=4,b=1/9,c=4,d=1/16 (X=0 Y=0) 
(X=1.2 Y=1.25) 
(X=2.0 Y=2.0) 

S1=1.25 S2=0.75
T1=1.2 T2=0.8 
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a=4,b=1/9,c=4,d=1/25 (X=0 Y=0) 
(X=1.25 Y=1.25) 
(X=2.0 Y=2.0) 

S1=1.25 S2=0.75
T1=1.25 T2=0.75 

a=4,b=1/9,c=9,d=1/4 (X=0 Y=0) 
(X=1.1 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=1.1 T2=0.9 

a=4,b=1/9,c=9,d=1/9 (X=0 Y=0) 
(X=1.5 Y=1.05) 
(X=2.0 Y=2.0) 

S1=1.05 S2=0.95
T1=1.5 T2=0.5 

a=4,b=1/9,c=9,d=1/16 (X=0 Y=0) 
(X=1.8 Y=1.1) 
(X=2.0 Y=2.0) 

S1=1.1 S2=0.9
T1=1.8 T2=0.2 

a=4,b=1/9,c=9,d=1/25 (X=0 Y=0) 
(X=1.8 Y=1.1) 
(X=2.0 Y=2.0) 

S1=1.1 S2=0.9
T1=1.8 T2=0.2 

a=4,b=1/9,c=16,d=1/4 (X=0 Y=0) 
(X=1.05 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=1.05 T2=0.95 

a=4,b=1/9,c=16,d=1/9 (X=0 Y=0) 
(X=1.1 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=1.1 T2=0.95 

a=4,b=1/9,c=16,d=1/16 (X=0 Y=0) 
(X=1.1 Y=1.01) 
(X=2.0 Y=2.0) 

S1=1.01 S2=0.99
T1=1.1 T2=0.9 

a=4,b=1/9,c=16,d=1/25 (X=0 Y=0) 
(X=1.1 Y=1.02) 
(X=2.0 Y=2.0) 

S1=1.02 S2=0.08
T1=1.1 T2=0.9 

a=4,b=1/9,c=25,d=1/4 (X=0 Y=0) 
(X=1.05 Y=0.8) 
(X=2.0 Y=2.0) 

S1=0.8 S2=1.2
T1=1.05 T2=0.95 

a=4,b=1/9,c=25,d=1/9 (X=0 Y=0) 
(X=1.08 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=1.08 T2=0.92 

a=4,b=1/9,c=25,d=1/16 (X=0 Y=0) 
(X=1.1 Y=0.98) 
(X=2.0 Y=2.0) 

S1=0.98 S2=1.02
T1=1.1 T2=0.9 
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a=4,b=1/9,c=25,d=1/25 (X=0 Y=0) 
(X=1.1 Y=1.01) 
(X=2.0 Y=2.0) 

S1=1.01 S2=0.09
T1=1.1 T2=0.9 

a=4,b=1/16,c=4,d=1/16 (X=0 Y=0) 
(X=1.2 Y=1.2) 
(X=2.0 Y=2.0) 

S1=1.2 S2=0.8
T1=1.2 T2=0.8 

a=4,b=1/16,c=4,d=1/25 (X=0 Y=0) 
(X=1.25 Y=1.25) 
(X=2.0 Y=2.0) 

S1=1.25 S2=0.75
T1=1.25 T2=0.75 

a=4,b=1/16,c=9,d=1/4 (X=0 Y=0) 
(X=1.1 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=1.1 T2=0.9 

a=4,b=1/16,c=9,d=1/9 (X=0 Y=0) 
(X=1.15 Y=1.05) 
(X=2.0 Y=2.0) 

S1=1.05 S2=0.95
T1=1.15 T2=0.85 

a=4,b=1/16,c=9,d=1/16 (X=0 Y=0) 
(X=1.2 Y=1.1) 
(X=2.0 Y=2.0) 

S1=1.1 S2=0.9
T1=1.2 T2=0.8 

a=4,b=1/16,c=9,d=1/25 (X=0 Y=0) 
(X=1.2 Y=1.1) 
(X=2.0 Y=2.0) 

S1=1.1 S2=0.9
T1=1.2 T2=0.8 

a=4,b=1/16,c=16,d=1/4 (X=0 Y=0) 
(X=1.1 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=1.1 T2=0.9 

a=4,b=1/16,c=16,d=1/9 (X=0 Y=0) 
(X=1.12 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.12 T2=0.88 

a=4,b=1/16,c=16,d=1/16 (X=0 Y=0) 
(X=1.12 Y=1.02) 
(X=2.0 Y=2.0) 

S1=1.02 S2=0.98
T1=1.12 T2=0.88 

a=4,b=1/16,c=16,d=1/25 (X=0 Y=0) 
(X=1.12 Y=1.05) 
(X=2.0 Y=2.0) 

S1=1.05 S2=0.95
T1=1.12 T2=0.88 

a=4,b=1/16,c=25,d=1/4 (X=0 Y=0 ) 
(X=1.05 Y=0.85) 
(X=2.0 Y=2.0) 

S1=0.85 S2=1.15
T1=1.05 T2=0.95 
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a=4,b=1/16,c=25,d=1/9 (X=0 Y=0) 
(X=1.1 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=1.1 T2=0.9 

a=4,b=1/16,c=25,d=1/16 (X=0 Y=0) 
(X=1.15 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.15 T2=0.85 

a=4,b=1/16,c=25,d=1/25 (X=0 Y=0) 
(X=1.15 Y=1.02) 
(X=2.0 Y=2.0) 

S1=1.02 S2=0.98
T1=1.15 T2=0.85 

a=4,b=1/25,c=4,d=1/25 (X=0 Y=0 ) 
(X=0.3 Y=0.7) 
(X=2.0 Y=2.0) 

S1=0.7 S2=1.3
T1=0.3 T2=1.7 

a=4,b=1/25,c=4,d=1/25 (X=0 Y=0) 
(X=1.3 Y=1.3) 
(X=2.0 Y=2.0) 

S1=1.3 S2=0.7
T1=1.3 T2=0.7 

a=4,b=1/25,c=9,d=1/4 (X=0 Y=0) 
(X=1.15 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=1.15 T2=0.85 

a=4,b=1/25,c=9,d=1/9 (X=0 Y=0) 
(X=1.15 Y=1.05) 
(X=2.0 Y=2.0) 

S1=1.05 S2=0.95
T1=1.15 T2=0.85 

a=4,b=1/25,c=9,d=1/16 (X=0 Y=0) 
(X=1.2 Y=1.15) 
(X=2.0 Y=2.0) 

S1=1.15 S2=0.85
T1=1.2 T2=0.8 

a=4,b=1/25,c=9,d=1/25 (X=0 Y=0) 
(X=1.2 Y=1.1) 
(X=2.0 Y=2.0) 

S1=1.1 S2=0.9
T1=1.2 T2=0.8 

a=4,b=1/25,c=16,d=1/4 (X=0 Y=0) 
(X=1.1 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=1.1 T2=0.9 

a=4,b=1/25,c=16,d=1/9 (X=0 Y=0) 
(X=1.15 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.15 T2=0.85 

a=4,b=1/25,c=16,d=1/16 (X=0 Y=0) 
(X=1.15 Y=1.05) 
(X=2.0 Y=2.0) 

S1=1.05 S2=0.95
T1=1.15 T2=0.85 
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a=4,b=1/25,c=16,d=1/25 (X=0 Y=0) 
(X=1.15 Y=1.05) 
(X=2.0 Y=2.0) 

S1=1.05 S2=0.95
T1=1.15 T2=0.85 

a=4,b=1/25,c=25,d=1/4 (X=0 Y=0) 
(X=1.1 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=1.1 T2=0.9 

a=4,b=1/25,c=25,d=1/9 (X=0 Y=0) 
(X=1.15 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=1.15 T2=0.85 

a=4,b=1/25,c=25,d=1/16 (X=0 Y=0) 
(X=1.15 Y=1.02) 
(X=2.0 Y=2.0) 

S1=1.02 S2=0.98
T1=1.15 T2=0.85 

a=4,b=1/25,c=25,d=1/25 (X=0 Y=0) 
(X=1.15 Y=1.03) 
(X=2.0 Y=2.0) 

S1=1.03 S2=0.97
T1=1.15 T2=0.85 

a=9,b=1/4,c=9,d=1/4 (X=0 Y=0) 
(X=0.8 Y=0.8) 
(X=2.0 Y=2.0) 

S1=0.8 S2=1.2
T1=0.8 T2=1.2 

a=9,b=1/4,c=9,d=1/9 (X=0 Y=0) 
(X=0.9 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=0.9 T2=1.1 

a=9,b=1/4,c=9,d=1/16 (X=0 Y=0) 
(X=0.95 Y=1.05) 
(X=2.0 Y=2.0) 

S1=1.05 S2=0.95
T1=0.95 T2=1.05 

a=9,b=1/4,c=9,d=1/25 (X=0 Y=0) 
(X=0.95 Y=1.05) 
(X=2.0 Y=2.0) 

S1=1.05 S2=0.95
T1=0.95 T2=1.05 

a=9,b=1/4,c=16,d=1/4 (X=0 Y=0) 
(X=0.8 Y=0.75) 
(X=2.0 Y=2.0) 

S1=0.75 S2=1.25
T1=0.8 T2=1.2 

a=9,b=1/4,c=16,d=1/9 (X=0 Y=0) 
(X=0.9 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=0.9 T2=1.1 

a=9,b=1/4,c=16,d=1/16 (X=0 Y=0) 
(X=0.9 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=0.9 T2=1.1 
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a=9,b=1/4,c=16,d=1/25 (X=0 Y=0) 
(X=0.93 Y=0.98) 
(X=2.0 Y=2.0) 

S1=0.98 S2=1.02
T1=0.93 T2=1.07 

a=9,b=1/4,c=25,d=1/4 (X=0 Y=0 ) 
(X=0.78 Y=0.75) 
(X=2.0 Y=2.0) 

S1=0.75 S2=1.25
T1=0.78 T2=1.22 

a=9,b=1/4,c=25,d=1/9 (X=0 Y=0) 
(X=0.9 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=0.9 T2=1.1 

a=9,b=1/4,c=25,d=1/16 (X=0 Y=0) 
(X=0.9 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=0.9 T2=1.1 

a=9,b=1/4,c=25,d=1/25 (X=0 Y=0) 
(X=0.92 Y=0.98) 
(X=2.0 Y=2.0) 

S1=0.98 S2=1.02
T1=0.92 T2=1.08 

a=9,b=1/9,c=9,d=1/4 (X=0 Y=0) 
(X=1.0 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=1.0 T2=1.0 

a=9,b=1/9,c=9,d=1/9 (X=0 Y=0) 
(X=1.05 Y=1.01) 
(X=2.0 Y=2.0) 

S1=1.01 S2=0.99
T1=1.05 T2=0.85 

a=9,b=1/9,c=9,d=1/16 (X=0 Y=0) 
(X=1.05 Y=1.05) 
(X=2.0 Y=2.0) 

S1=1.05 S2=0.95
T1=1.05 T2=0.95 

a=9,b=1/9,c=9,d=1/25 (X=0 Y=0) 
(X=1.05 Y=1.05) 
(X=2.0 Y=2.0) 

S1=1.05 S2=0.95
T1=1.05 T2=0.95 

a=9,b=1/9,c=16,d=1/4 (X=0 Y=0) 
(X=0.98 Y=0.85) 
(X=2.0 Y=2.0) 

S1=0.85 S2=1.15
T1=0.98 T2=1.02 

a=9,b=1/9,c=16,d=1/9 (X=0 Y=0) 
(X=1.03 Y=0.97) 
(X=2.0 Y=2.0) 

S1=0.97 S2=1.03
T1=1.03 T2=0.97 

a=9,b=1/9,c=16,d=1/16 (X=0 Y=0) 
(X=1.05 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.05 T2=0.95 
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a=9,b=1/9,c=16,d=1/25 (X=0 Y=0) 
(X=1.05 Y=1.02) 
(X=2.0 Y=2.0) 

S1=1.02 S2=0.98
T1=1.05 T2=0.85 

a=9,b=1/9,c=25,d=1/4 (X=0 Y=0) 
(X=0.98 Y=0.85) 
(X=2.0 Y=2.0) 

S1=0.85 S2=1.15
T1=0.98 T2=1.02 

a=9,b=1/9,c=25,d=1/9 (X=0 Y=0) 
(X=1.02 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=1.02 T2=0.98 

a=9,b=1/9,c=25,d=1/16 (X=0 Y=0) 
(X=1.05 Y=0.98) 
(X=2.0 Y=2.0) 

S1=0.98 S2=1.02
T1=1.05 T2=0.95 

a=9,b=1/9,c=25,d=1/25 (X=0 Y=0) 
(X=1.05 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.05 T2=0.95 

a=9,b=1/16,c=9,d=1/4 (X=0 Y=0 ) 
(X=1.05 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=1.05 T2=0.95 

a=9,b=1/16,c=9,d=1/9 (X=0 Y=0) 
(X=1.05 Y=1.02) 
(X=2.0 Y=2.0) 

S1=1.02 S2=0.98
T1=1.05 T2=0.95 

a=9,b=1/16,c=9,d=1/16 (X=0 Y=0) 
(X=1.1 Y=1.05) 
(X=2.0 Y=2.0) 

S1=1.05 S2=0.95
T1=1.1 T2=0.9 

a=9,b=1/16,c=9,d=1/25 (X=0 Y=0) 
(X=1.1 Y=1.08) 
(X=2.0 Y=2.0) 

S1=1.08 S2=0.92
T1=1.1 T2=0.9 

a=9,b=1/16,c=16,d=1/4 (X=0 Y=0) 
(X=1.03 Y=0.85) 
(X=2.0 Y=2.0) 

S1=0.85 S2=1.15
T1=1.03 T2=0.97 

a=9,b=1/16,c=16,d=1/9 (X=0 Y=0) 
(X=1.05 Y=0.98) 
(X=2.0 Y=2.0) 

S1=0.98 S2=1.02
T1=1.05 T2=0.95 

a=9,b=1/16,c=16,d=1/16 (X=0 Y=0) 
(X=1.08 Y=1.02) 
(X=2.0 Y=2.0) 

S1=1.02 S2=0.98
T1=1.08 T2=0.92 
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a=9,b=1/16,c=16,d=1/25 (X=0 Y=0) 
(X=1.08 Y=1.03) 
(X=2.0 Y=2.0) 

S1=1.03 S2=0.97
T1=1.08 T2=0.92 

a=9,b=1/16,c=25,d=1/4 (X=0 Y=0) 
(X=1.03 Y=0.85) 
(X=2.0 Y=2.0) 

S1=0.85 S2=1.15
T1=1.03 T2=0.97 

a=9,b=1/16,c=25,d=1/9 (X=0 Y=0) 
(X=1.05 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=1.05 T2=0.95 

a=9,b=1/16,c=25,d=1/16 (X=0 Y=0) 
(X=1.05 Y=0.98) 
(X=2.0 Y=2.0) 

S1=0.98 S2=1.02
T1=1.05 T2=0.95 

a=9,b=1/16,c=25,d=1/25 (X=0 Y=0) 
(X=1.05 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.05 T2=0.95 

a=9,b=1/25,c=9,d=1/4 (X=0 Y=0 ) 
(X=1.03 Y=0.93) 
(X=2.0 Y=2.0) 

S1=0.93 S2=1.07
T1=1.03 T2=0.97 

a=9,b=1/25,c=9,d=1/9 (X=0 Y=0) 
(X=1.05 Y=1.02) 
(X=2.0 Y=2.0) 

S1=1.02 S2=0.98
T1=1.05 T2=0.95 

a=9,b=1/25,c=9,d=1/16 (X=0 Y=0) 
(X=1.05 Y=1.05) 
(X=2.0 Y=2.0) 

S1=1.05 S2=0.95
T1=1.05 T2=0.95 

a=9,b=1/25,c=9,d=1/25 (X=0 Y=0) 
(X=1.05 Y=1.05) 
(X=2.0 Y=2.0) 

S1=1.05 S2=0.95
T1=1.05 T2=0.95 

a=9,b=1/25,c=16,d=1/4 (X=0 Y=0) 
(X=1.03 Y=0.98) 
(X=2.0 Y=2.0) 

S1=0.98 S2=1.02
T1=1.03 T2=0.97 

a=9,b=1/25,c=16,d=1/9 (X=0 Y=0) 
(X=1.03 Y=0.99) 
(X=2.0 Y=2.0) 

S1=0.99 S2=1.01
T1=1.03 T2=0.97 

a=9,b=1/25,c=16,d=1/16 (X=0 Y=0) 
(X=1.03 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.03 T2=0.97 
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a=9,b=1/25,c=16,d=1/25 (X=0 Y=0) 
(X=1.03 Y=1.1) 
(X=2.0 Y=2.0) 

S1=1.1 S2=0.9
T1=1.03 T2=0.97 

a=9,b=1/25,c=25,d=1/4 (X=0 Y=0) 
(X=1.01 Y=0.85) 
(X=2.0 Y=2.0) 

S1=0.85 S2=1.15
T1=1.01 T2=0.99 

a=9,b=1/25,c=25,d=1/9 (X=0 Y=0) 
(X=1.03 Y=0.98) 
(X=2.0 Y=2.0) 

S1=0.98 S2=1.02
T1=1.03 T2=0.97 

a=9,b=1/25,c=25,d=1/16 (X=0 Y=0) 
(X=1.03 Y=0.99) 
(X=2.0 Y=2.0) 

S1=0.99 S2=1.01
T1=1.03 T2=0.97 

a=9,b=1/25,c=25,d=1/25 (X=0 Y=0) 
(X=1.03 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.03 T2=0.97 

a=16,b=1/4,c=16,d=1/4 (X=0 Y=0) 
(X=0.75 Y=0.75) 
(X=2.0 Y=2.0) 

S1=0.75 S2=1.25
T1=0.75 T2=1.25 

a=16,b=1/4,c=16,d=1/9 (X=0 Y=0) 
(X=0.85 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=0.85 T2=1.15 

a=16,b=1/4,c=16,d=1/16 (X=0 Y=0) 
(X=0.9 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=0.9 T2=1.1 

a=16,b=1/4,c=16,d=1/25 (X=0 Y=0) 
(X=0.9 Y=0.99) 
(X=2.0 Y=2.0) 

S1=0.99 S2=1.01
T1=0.9 T2=1.1 

a=16,b=1/4,c=25,d=1/4 (X=0 Y=0) 
(X=0.73 Y=0.7) 
(X=2.0 Y=2.0) 

S1=0.7 S2=1.3
T1=0.73 T2=1.27 

a=16,b=1/4,c=25,d=1/9 (X=0 Y=0) 
(X=0.85 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=0.85 T2=1.15 

a=16,b=1/4,c=25,d=1/16 (X=0 Y=0) 
(X=0.9 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=0.9 T2=1.1 
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a=16,b=1/4,c=25,d=1/25 (X=0 Y=0) 
(X=0.9 Y=0.98) 
(X=2.0 Y=2.0) 

S1=0.98 S2=1.02
T1=0.9 T2=1.1 

a=16,b=1/9,c=16,d=1/4 (X=0 Y=0) 
(X=0.9 Y=0.8) 
(X=2.0 Y=2.0) 

S1=0.8 S2=1.2
T1=0.9 T2=1.1 

a=16,b=1/9,c=16,d=1/9 (X=0 Y=0) 
(X=0.95 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=0.95 T2=1.05 

a=16,b=1/9,c=16,d=1/16 (X=0 Y=0) 
(X=0.96 Y=0.98) 
(X=2.0 Y=2.0) 

S1=0.98 S2=1.02
T1=0.96 T2=1.04 

a=16,b=1/9,c=16,d=1/25 (X=0 Y=0) 
(X=0.98 Y=1.01) 
(X=2.0 Y=2.0) 

S1=1.01 S2=0.99
T1=0.98 T2=1.02 

a=16,b=1/9,c=25,d=1/4 (X=0 Y=0) 
(X=0.95 Y=0.8) 
(X=2.0 Y=2.0) 

S1=0.8 S2=1.2
T1=0.95 T2=1.05 

a=16,b=1/9,c=25,d=1/9 (X=0 Y=0) 
(X=0.96 Y=0.96) 
(X=2.0 Y=2.0) 

S1=0.96 S2=1.04
T1=0.96 T2=1.04 

a=16,b=1/9,c=25,d=1/16 (X=0 Y=0) 
(X=0.97 Y=0.97) 
(X=2.0 Y=2.0) 

S1=0.97 S2=1.03
T1=0.97 T2=1.03 

a=16,b=1/9,c=25,d=1/25 (X=0 Y=0) 
(X=0.99 Y=0.99) 
(X=2.0 Y=2.0) 

S1=0.99 S2=1.01
T1=0.99 T2=1.01 

a=16,b=1/16,c=16,d=1/4 (X=0 Y=0) 
(X=0.97 Y=0.85) 
(X=2.0 Y=2.0) 

S1=0.85 S2=1.15
T1=0.97 T2=1.03 

a=16,b=1/16,c=16,d=1/9 (X=0 Y=0) 
(X=1.0 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=1.0 T2=1.0 

a=16,b=1/16,c=16,d=1/16 (X=0 Y=0) 
(X=1.0 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.0 T2=1.0 
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a=16,b=1/16,c=16,d=1/25 (X=0 Y=0) 
(X=1.01 Y=1.01) 
(X=2.0 Y=2.0) 

S1=1.01 S2=0.99
T1=1.01 T2=0.99 

a=16,b=1/16,c=25,d=1/4 (X=0 Y=0) 
(X=0.95 Y=0.8) 
(X=2.0 Y=2.0) 

S1=0.8 S2=1.2
T1=0.95 T2=1.05 

a=16,b=1/16,c=25,d=1/9 (X=0 Y=0) 
(X=0.98 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=0.98 T2=1.02 

a=16,b=1/16,c=25,d=1/16 (X=0 Y=0) 
(X=1.0 Y=0.98) 
(X=2.0 Y=2.0) 

S1=0.98 S2=1.02
T1=1.0 T2=1.0 

a=16,b=1/16,c=25,d=1/25 (X=0 Y=0) 
(X=1.0 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.0 T2=1.0 

a=16,b=1/25,c=16,d=1/4 (X=0 Y=0) 
(X=1.0 Y=0.85) 
(X=2.0 Y=2.0) 

S1=0.85 S2=1.15
T1=1.0 T2=1.0 

a=16,b=1/25,c=16,d=1/9 (X=0 Y=0) 
(X=1.01 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=1.01 T2=0.99 

a=16,b=1/25,c=16,d=1/16 (X=0 Y=0) 
(X=1.01 Y=0.99) 
(X=2.0 Y=2.0) 

S1=0.99 S2=1.01
T1=1.01 T2=0.99 

a=16,b=1/25,c=16,d=1/25 (X=0 Y=0) 
(X=1.01 Y=1.01) 
(X=2.0 Y=2.0) 

S1=1.01 S2=0.99
T1=1.01 T2=0.99 

a=16,b=1/25,c=25,d=1/4 (X=0 Y=0) 
(X=0.99 Y=0.8) 
(X=2.0 Y=2.0) 

S1=0.8 S2=1.2
T1=0.99 T2=1.01 

a=16,b=1/25,c=25,d=1/9 (X=0 Y=0) 
(X=1.01 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=1.01 T2=0.99 

a=16,b=1/25,c=25,d=1/16 (X=0 Y=0) 
(X=1.01 Y=0.98) 
(X=2.0 Y=2.0) 

S1=0.98 S2=1.02
T1=1.01 T2=0.99 
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a=16,b=1/25,c=25,d=1/25 (X=0 Y=0) 
(X=1.0 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.0 T2=1.0 

a=25,b=1/4,c=25,d=1/4 (X=0 Y=0) 
(X=0.7 Y=0.7) 
(X=2.0 Y=2.0) 

S1=0.7 S2=1.3
T1=0.7 T2=1.3 

a=25,b=1/4,c=25,d=1/9 (X=0 Y=0) 
(X=0.8 Y=0.9) 
(X=2.0 Y=2.0) 

S1=0.9 S2=1.1
T1=0.8 T2=1.2 

a=25,b=1/4,c=25,d=1/16 (X=0 Y=0) 
(X=0.85 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=0.85 T2=1.15 

a=25,b=1/4,c=25,d=1/25 (X=0 Y=0) 
(X=0.85 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=0.85 T2=1.15 

a=25,b=1/9,c=25,d=1/4 (X=0 Y=0) 
(X=0.9 Y=0.75) 
(X=2.0 Y=2.0) 

S1=0.75 S2=1.25
T1=0.9 T2=1.1 

a=25,b=1/9,c=25,d=1/9 (X=0 Y=0) 
(X=0.92 Y=0.92) 
(X=2.0 Y=2.0) 

S1=0.92 S2=1.08
T1=0.92 T2=1.08 

a=25,b=1/9,c=25,d=1/16 (X=0 Y=0) 
(X=0.95 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=0.95 T2=1.05 

a=25,b=1/9,c=25,d=1/25 (X=0 Y=0) 
(X=0.95 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=0.95 T2=1.05 

a=25,b=1/16,c=25,d=1/4 (X=0 Y=0) 
(X=0.95 Y=0.8) 
(X=2.0 Y=2.0) 

S1=0.8 S2=1.2
T1=0.95 T2=1.05 

a=25,b=1/16,c=25,d=1/9 (X=0 Y=0) 
(X=0.95 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=0.95 T2=1.05 

a=25,b=1/16,c=25,d=1/16 (X=0 Y=0) 
(X=0.95 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=0.95 T2=1.05 
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a=25,b=1/16,c=25,d=1/25 (X=0 Y=0) 
(X=0.98 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=0.98 T2=1.02 

a=25,b=1/25,c=25,d=1/4 (X=0 Y=0) 
(X=0.98 Y=0.8) 
(X=2.0 Y=2.0) 

S1=0.8 S2=1.2
T1=0.98 T2=1.02 

a=25,b=1/25,c=25,d=1/9 (X=0 Y=0) 
(X=0.99 Y=0.95) 
(X=2.0 Y=2.0) 

S1=0.95 S2=1.05
T1=0.99 T2=1.01 

a=25,b=1/25,c=25,d=1/16 (X=0 Y=0) 
(X=1.0 Y=0.98) 
(X=2.0 Y=2.0) 

S1=0.98 S2=1.02
T1=1.0 T2=1.0 

a=25,b=1/25,c=25,d=1/25 (X=0 Y=0) 
(X=1.0 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.0 T2=1.0 

 
a=4,b=1/4,c=1,d=1 (X=0 Y=0) 

(X=1.0 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.0 T2=1.0 

a=4,b=1/4,c=4,d=4 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=4,b=1/4,c=9,d=9 
a=4,b=1/4,c=16,d=16 
a=4,b=1/4,c=25,d=25 

a=4,b=1/4,c=100,d=100 
a=4,b=1/4,c=10000,d=10000 

a=9,b=1/9,c=1,d=1 (X=0 Y=0) 
(X=1.0 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.0 T2=1.0 

a=9,b=1/9,c=4,d=4 (X=0 Y=0) 
(X=0.22 Y=0.07) 
(X=2.0 Y=2.0) 

S1=0.07 S2=1.93
T1=0.22 T2=1.78 

a=9,b=1/9,c=9,d=9 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=9,b=1/9,c=16,d=16 
a=9,b=1/9,c=25,d=25 

a=9,b=1/9,c=100,d=100 
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a=9,b=1/9,c=10000,d=10000 
a=16,b=1/16,c=1,d=1 (X=0 Y=0) 

(X=1.0 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.0 T2=1.0 

a=16,b=1/16,c=4,d=4 (X=0 Y=0) 
(X=0.7 Y=0.25) 
(X=2.0 Y=2.0) 

S1=0.25 S2=1.75
T1=0.7 T2=1.3 

a=16,b=1/16,c=9,d=9 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=16,b=1/16,c=16,d=16 
a=16,b=1/16,c=25,d=25 

a=16,b=1/16,c=100,d=100 
a=16,b=1/16,c=10000,d=10000 

a=25,b=1/25,c=1,d=1 (X=0 Y=0) 
(X=1.0 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.0 T2=1.0 

a=25,b=1/25,c=4,d=4 (X=0 Y=0) 
(X=0.8 Y=0.3) 
(X=2.0 Y=2.0) 

S1=0.3 S2=0.7
T1=0.8 T2=0.2 

a=25,b=1/25,c=9,d=9 (X=0 Y=0) 
(X=0.44 Y=0.08) 
(X=2.0 Y=2.0) 

S1=0.08 S2=1.92
T1=0.44 T2=1.56 

a=25,b=1/25,c=16,d=16 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=25,b=1/25,c=25,d=25 
a=25,b=1/25,c=100,d=100 

a=25,b=1/25,c=10000,d=10000 
a=100,b=1/100,c=1,d=1 (X=0 Y=0) 

(X=1.0 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.0 T2=1.0 

a=100,b=1/100,c=4,d=4 (X=0 Y=0) 
(X=0.95 Y=0.35) 
(X=2.0 Y=2.0) 

S1=0.35 S2=1.65
T1=0.95 T2=1.05 

a=100,b=1/100,c=9,d=9 (X=0 Y=0) 
(X=0.9 Y=0.1) 
(X=2.0 Y=2.0) 

S1=0.1 S2=1.9
T1=0.9 T2=1.1 

a=100,b=1/100,c=16,d=16 (X=0 Y=0) S1=0.05 S2=1.95
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(X=0.8 Y=0.05) 
(X=2.0 Y=2.0) 

T1=0.8 T2=1.2 

a=100,b=1/100,c=25,d=25 (X=0 Y=0) 
(X=0.65 Y=0.01) 
(X=2.0 Y=2.0) 

S1=0.01 S2=1.99
T1=0.65 T2=1.35 

a=100,b=1/100,c=100,d=100 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=100,b=1/100,c=10000,d=10000 

a=10000,b=1/10000,c=1,d=1 (X=0 Y=0) 
(X=1.0 Y=1.0) 
(X=2.0 Y=2.0) 

S1=1.0 S2=1.0
T1=1.0 T2=1.0 

a=10000,b=1/10000,c=4,d=4 (X=0 Y=0) 
(X=1.0 Y=0.4) 
(X=2.0 Y=2.0) 

S1=0.4 S2=1.6
T1=1.0 T2=1.0 

a=10000,b=1/10000,c=9,d=9 (X=0 Y=0) 
(X=1.0 Y=0.2) 
(X=2.0 Y=2.0) 

S1=0.2 S2=1.8
T1=1.0 T2=1.0 

a=10000,b=1/10000,c=16,d=16 (X=0 Y=0) 
(X=1.0 Y=0.1) 
(X=2.0 Y=2.0) 

S1=0.1 S2=1.9
T1=1.0 T2=1.0 

a=10000,b=1/10000,c=25,d=25 (X=0 Y=0) 
(X=1.0 Y=0.07) 
(X=2.0 Y=2.0) 

S1=0.07 S2=1.93
T1=1.0 T2=1.0 

a=10000,b=1/10000,c=100,d=100 (X=0 Y=0) 
(X=0.95 Y=0.02) 
(X=2.0 Y=2.0) 

S1=0.02 S2=1.98
T1=0.95 T2=1.05 

a=10000,b=1/10000,c=10000,d=10000 (X=0 0.9 Y=0)
 

S1=0 S2=2.0
T1=0 0.9 T2=1.1

2.0 
 

a=4,b=1/4,c=1/4,d=1/4 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=4,b=1/4,c=1/9,d=1/9 
a=4,b=1/4,c=1/16,d=1/16 
a=4,b=1/4,c=1/25,d=1/25 

a=4,b=1/4,c=1/100,d=1/100 



56 
 

a=4,b=1/4,c=1/10000,d=1/10000 
a=9,b=1/9,c=1/4,d=1/4 (X=0 Y=0) 

(X=1.78 Y=1.93) 
(X=2.0 Y=2.0) 

S1=1.93 S2=0.07
T1=1.78 T2=0.22 

a=9,b=1/9,c=1/9,d=1/9 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=9,b=1/9,c=1/16,d=1/16 
a=9,b=1/9,c=1/25,d=1/25 

a=9,b=1/9,c=1/100,d=1/100 
a=9,b=1/9,c=1/10000,d=1/10000 

a=16,b=1/16,c=1/4,d=1/4 (X=0 Y=0) 
(X=1.3 Y=1.75) 
(X=2.0 Y=2.0) 

S1=1.75 S2=0.25
T1=1.3 T2=0.7 

a=16,b=1/16,c=1/9,d=1/9 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=16,b=1/16,c=1/16,d=1/16 
a=16,b=1/16,c=1/25,d=1/25 

a=16,b=1/16,c=1/100,d=1/100 
a=16,b=1/16,c=1/10000,d=1/10000 

a=25,b=1/25,c=1/4,d=1/4 (X=0 Y=0) 
(X=1.2 Y=1.7) 
(X=2.0 Y=2.0) 

S1=1.7 S2=0.3
T1=1.2 T2=0.8 

a=25,b=1/25,c=1/9,d=1/9 (X=0 Y=0) 
(X=1.56 Y=1.92) 
(X=2.0 Y=2.0) 

S1=1.92 S2=0.08
T1=1.56 T2=0.44 

a=25,b=1/25,c=1/16,d=1/16 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=25,b=1/25,c=1/25,d=1/25 
a=25,b=1/25,c=1/100,d=1/100 

a=25,b=1/25,c=1/10000,d=1/10000 
a=100,b=1/100,c=1/4,d=1/4 (X=0 Y=0) 

(X=1.05 Y=1.65) 
(X=2.0 Y=2.0) 

S1=1.65 S2=0.35
T1=1.05 T2=0.95 

a=100,b=1/100,c=1/9,d=1/9 (X=0 Y=0) 
(X=1.1 Y=1.9) 
(X=2.0 Y=2.0) 

S1=1.9 S2=0.1
T1=1.1 T2=0.9 

a=100,b=1/100,c=1/16,d=1/16 (X=0 Y=0) 
(X=1.2 Y=1.95) 

S1=1.95 S2=0.05
T1=1.2 T2=0.8 
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(X=2.0 Y=2.0) 
a=100,b=1/100,c=1/25,d=1/25 (X=0 Y=0) 

(X=1.35 Y=1.99) 
(X=2.0 Y=2.0) 

S1=1.99 S2=0.01
T1=1.35 T2=0.65 

a=100,b=1/100,c=1/100,d=1/100 (X=0 Y=0) 
(X=2.0 Y=2.0) 

(S1=0 S2=2.0
T1=0 T2=2.0)
(S1=2.0 S2=0
T1=2.0 T2=0) 

a=100,b=1/100,c=1/10000,d=1/10000 

a=10000,b=1/10000,c=1/4,d=1/4 (X=0 Y=0) 
(X=1.0 Y=1.6) 
(X=2.0 Y=2.0) 

S1=1.6 S2=0.4
T1=1.0 T2=1.0 

a=10000,b=1/10000,c=1/9,d=1/9 (X=0 Y=0) 
(X=1.0 Y=1.8) 
(X=2.0 Y=2.0) 

S1=1.8 S2=0.2
T1=1.0 T2=1.0 

a=10000,b=1/10000,c=1/16,d=1/16 (X=0 Y=0) 
(X=1.0 Y=1.9) 
(X=2.0 Y=2.0) 

S1=1.9 S2=0.1
T1=1.0 T2=1.0 

a=10000,b=1/10000,c=1/25,d=1/25 (X=0 Y=0) 
(X=1.0 Y=1.93) 
(X=2.0 Y=2.0) 

S1=1.93 S2=0.07
T1=1.0 T2=1.0 

a=10000,b=1/10000,c=1/100,d=1/100 (X=0 Y=0) 
(X=1.05 Y=1.98) 
(X=2.0 Y=2.0) 

S1=1.98 S2=0.02
T1=1.05 T2=0.95 

a=10000,b=1/10000,c=1/10000,d=1/10000 (X=1.1 2.0
Y=2.0)  

S1=2.0 S2=0
T1=1.1 2.0 T2=0

0.9 
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